Inverse Trigonometric Functions

Question 1.
51

Solve for x : {xcos(cot'1 X) + SiIl(CO'E'1 X)}Z =50

(a) %
(b) 55
(c) 2\2
(d) 52
Answer:
(b) 5—%

Question 2.

The value of tan-l(l] + tan_l[l)+ tan_l[z) is
2 3 8
7
(a) tan I(SJ (b) cot~1(15)

-1 -1f 25
(c) tan™ ' (15) (d) tan {24)

Answer:
(©) tan'l(l 5)

Question 3.

Solve for x : sin_] 2x +sin~13x =

76 3
(a) 1’? (b) 1‘%
3 3
(c) T3 (d) 26

WA



Answer:
(b) /=

Question 4.

(3 - .
The value of tan I[E)+tan l[a—) is

T
(@n (b) 3

in n
(c) vy (d) a

Answer:
()=

Question 5.

If sin'l(x2 —7x+12)=nn,Vn €], thenx =
(a)-2

(b) 4

Answer:
(b) 4

Question 6.

1 1

If cos™ x +sin™" x = m, then the value of x 1s

Question 7.
If sin"! x — cos™

@7
(b) 2

1X=%,thenx=



Answer:
V3
(b) 5

Question 8.

If tan"! (cot 0) = 26, then 0 is equal to
(a) 3

Ok

©) §

(d) None of these

Answer:

© %

Question 9.

cot(§ — 2cot’! 3) =
(a) 7

(b) 6

(©)5
(d) None of these
Answer:

(a)7

Question 10.

Iftan”! 3 + tan’! x = tan’! 8, then x =
(@5

(b) 5

©) %

@5

Answer:

(b) £



Question 11.
sin | —
2
i
@3

n
(c) p

Answer:

(&)~ =

Question 12.

cus_l [1]
2

_r
@) -3

|
(c) 3

Answer:
(b) ¥

Question 13.
tan"'(+/3)

Al
(a) 5

2n
(c) EY

Answer:
(b) 3

(b) =%

(d) ==



Question 14.

sin”~! (%]

m

(a) a

T
©

Answer:
() X

Question 15.

- - 1
tan ll+mc-; '[ 5

2n
(a) 3

(c)

2 A

Answer:
3
®) 7

Question 16.

cos™! 1 +2sin”! 1
2 2

@
3}4

Tt
(c) 3

Answer:
d =

(b) 7

(d) 5

is equal to

by —
®) 3

2n
(d) 3



Question 17.
If cot ! (,/cosar) - tan (/cosa) = x, thensinx isequal
to

(a) tanz[%J (b) cutz({;)

' o
(c)tanot (d) cot {5]
Answer: |
(a) tan? (%)
Question 18.
The value of cot [EDEEI‘: 12 4 tan™! ?25] is
5 6
(a) 17 (b) 17
3 4
(c) 17 (d) T
Answer:
(b) =

Question 19.

If tan™! x-=1)+ tan’! x + tan™! x+1)= tan”! 3x, then the values of x are
(@) £ 3

(b) 0, 2

(©) 0, — 3

(d) 0, + 3

Answer:

(d)0, £ 3

Question 20.
If 6sin’! (x2 — 6x + 8.5) = m, then x is equal to

(a) 1
(b) 2
(c)3
(d) 8



Answer:
(b)2

Question 21.

sinJlZcus"l[%sJ}is equal to

5 2
(a) 25 (b) 25
4 24

Answer:
24
(d)— 24

Question 22.

sin! (1 —x)—2sin"! x = 5
(@) 0

(b) 12

(©)0,1/2

(d)-1/2

Answer:

(@) 0

Question 23.
2tan'1(cos X) = tan'1(2cosec X)

(@0

(b) /3
(c) m/4
(d) m/2
Answer:
(c) m/4



Question 24.
sin[cot™! {cus{tan" x)}=
2 2

x°+1 x° -1
(b)
@ X242 xt-2
-1 x+1
©yT 2 @ \{.HE
Answer:
x2+1
(a) 242
Question 25.
1 3n)) .
The value of cos | cos 5 is
In -3n
(a) 5 (b) 5
T -
(c) 0 (d) 10
Answer:
(a) &
Question 26.

The domain of the function defind by f(x) =sin~!y/z — 1 is
(a)[1,2]

(b) [-1, 1]

() [0, 1]

(d) none of these

Answer:

(a) 1, 2]

Question 27.

The value of sin (2tan'1 (0.75)) 1s equal to
(a) 0.75

(b) 1.5

(c) 0.96

(d) sin 1.5



Answer:
(c) 0.96

Question 28.

The value of expression 2 sec™ 2 + sin'l(%)
(a) s

(b) 5

©) 5

(d)1

Answer:

(b) 2

Question 29.

af 7 .
The value of sln[ms 1[—-)] is

25 25
@ o ) =

24 7
(c) 75 (d) 74

Answer:
24
(c) 5

Question 30.
1

The value of the expression tan <5 cos ! %)
(@) 2 + 15

(b) V5 -2

© %5;2

(d)5+2

Answer:

(b) V5 -2



Question 31.
cut[cusec*l —5-+ tan~} .1_] =
3 3

N b 3
@17 ® 17
4 5
(c) T (d) 7
Answer:
(@) <
Question 32.
14 12
The value of tan| cos "—+tan  — |=
5 3
6 7
(a) 17 (b) T3
16
(c) El (d) none of these
Answer:

(d) none of these

Question 33.

cm(ztan"l)- sin[dn'l 1) =
7 3

(a)1 (b)0
1 1
© 3 @ -3
Answer:
(b) 0

Question 34.

2cos V x = sin~} (2xV1-x2) is true for
(a) all x (b)x>0

l =x=<l

V2°

(c)xe [-1,1] (d)




Answer:
1
@ H<a<l

Question 35.

cos'l[cos(zcot'l(\/2 -)yl=__
(a)V2 -1

(b) 1+2

©=

(d) 3

Answer:

(d)

Question 36.
The range of sin®
(a) [0, 7]

) |5,%]

(c) (0, m)

@ [0,5]

Iy +cos!x +tan! xis

Answer:

® [5.%]

Question 37.
a1 -11 a1 a1
'Zttan' -+ tan”! S 4 tan' S =
5 7 8

tan

n
(a)m (b) >

T in
(c) 2 (d) 7

Answer:
© =

Question 38.

Find the value of sec? (tan'1 2)+ cosec? (cot‘1 3)
(a) 12

(b) 5

(c) 15

(d)9



Answer:
(c) 15

Question 39.

u...[“

4

(a)x

(c) 2x

Answer:
(d) 2

|
—+Er.:us l.r]+ mn[%-%cm_l x] =

1
(b) —
x

2
(d) —
X

Question 40.

The equation sin”

(a) unique

1 1

X—Cos X = cos‘l(g) has

solution

(b) no solution
(c) infinitely many solution
(d) none of these

Answer:
(a) unique solution
Question 41.
3tan’! ais equal to
I 1 { 3
-1l 3a+a 1l 3a-a
(@) tan™!| =5 {b}lanl——q}
L 1+3a” ) \ L +3a”
i
_|f3a+ﬂ‘]'\' _i| 3a-a’
(c) tan o (d) tan | ——=-
'-.I_H'HFJ L\l—?ﬂﬂ"—
Answer:

— a—a?®
(d) tan ! (j—3)



Question 42.

If sin[sinﬁl %+ cos ! x] =1, then the value of x is

by =
(a)-1 (b)

] |
(c) 3 (d) 3

Answer:
@ 3

Question 43.
The equation 2cos”

(a) no solution

(b) only one solution
(c) two solutions

(d) three solutions
Answer:

(a) no solution

1 1, — 1ix

X+sin"' X = 5 has

Question 44.

If IE(——,—], then the value

-1 tanx 1 [ 3sin2x ]
an” (o (5 e

(a) ) (b) 2x
(c) 3x (d)x

Question 45.

If tan"! 2x + tan’! 3x = %, then x is
@) ¢

(b) 1

© (5,-1)

(d) none of these



Answer:
(@) &

Question 46.
cos [tan~! {sin(cot~! x)}] is equal to

.rz+2 x3+2

(a) (b)
x3 +3 .1'2 +1

.r2+l

(c)
: :2+2

(d) None of these

Answer:

z2+1
(C) 242

Question 47.

-1 e S A
If tan (x)+ tan (I] 2 , then x is equal to
) Jab (b) 2ab

(c) 2ab (d) ab

Answer:

(a) Vab

Question 48.
If tan”! x — tan™! y = tan"! A, then A is equal to

(@ x-y
(b)x+y

=Yy
(C) 14zy

z+
@ 7y

Answer:

Ty
(©) 1+zy




Question 49.

~1f x-1 1 x+1 n
If tan 1( 2}”“ '[—J=—,thenxisequaltu

x+ x+2 4
(a) < (b} —L
2 V2
3 1
(c) i\[; (d) iE

Answer:
(€) 24/

Question 50.
The value of cot™! 9 + cosec'l(g ) is given by

()0

(b) T

(©) tan’! 2
)2
Answer:
(b) T



